ANEAEY

WINCH CRADLE
BED MOUNT

CHEVY COLORADO

PLEASE READ ENTIRELY BEFORE YOU START

To guarantee a quality installation, we recommend reading these instructions thoroughly
before beginning any work. These instructions assume a certain amount of mechanical
ability and are not written nor intended for someone not familiar with auto repair.

REQUIRED TOOLS

Common Hand Tools

Drill
1/2" Drill Bit
5/16" Drill Bit

Center Punch
Deburring Tool

Rust Preventative such as Permatex Rust Treament

AEV30444AA
Last Updated: 03/22/21



4ss ayvynos 3903

VV00LE6ATY NMOHS LON

z SOHE IDNVT4 0Z X 0'L X O VVSSOL6ATY | L2
z YIHSYM OW VVLZ086AIY | 0Z
L LANIONYTHS'L X 0L VVOEOE6ATY | 6L
! 1708 IOVIHHYD SEX S'LX OLW [17v0€686 | 8L
L 31v7d LN 30IS 038 HY VVELLONADY | ZL
L 31v1d LNN 301S 8Y HY YvzZLLouddY | ot
L 11089 IDYIHYYD 07 X §'L X OLI 612v0€686-9 | SL
z $IH 07t/ SSOHOSIST-d | bl
z YIHSYM LY14 O 8v9L086ATY | €L
s SOHY 0Z X S'L X OLI VVOL0L6ATY | 7l
v LANIONYTHS'L X 0L 9vZ00E6ATY | L1
s HIHSYM LY14 OLW VV90086AIV | Ol
z YIHSYM ONINIVLIY VVLEOE6ATY | 6
L v VYLEOLYdDY | 8
L ¥IOVdS vvezozauzy | L
L (STX SOL X OLW) SONM VVOOLI6ATY | 9
z ¥3dWNg VYIb0S6ATY | S
L ILV1d LN vveologHzy |
L NMOQ %207 31aV4D HINIM vv80l08uzZY | €
L 1DVYe Tivy a3g vvologuzy |
L 13DV¥8 Y004 a3g vvelolgzy | |

‘ALD NOILdI¥2S3d onueq || O

OdvdO 102 AAFHD

LNNOW d34d I IAVIO HONIM

< Y

y)

e %

)



@AMERICAN EXPEDITION VEHICLES

I. INSTALL BED RAIL BRACKET
1. Remove the right side rail cap by prying upward (fig. 1).

Figure 1

2. Position the Bed Rail Bracket into the corner of the bedside 1 35" from the top of the bed rail to the top
edge of the bracket (fig. 2). Be sure that the Bed Rail Bracket does not exceed the height of the bulkhead
rail and side rails. Mark the hole location on the bulkhead.

Figure 2



mAMERICAN EXPEDITION VEHICLES

3. Align the provided nut plate with the marked hole on the bulkhead as shown (fig. 3). Mark the carriage
bolt hole location only. NOTE: only the top nut on the nut plate will be used.

Figure 3

4. Drill the upper hole to 5/16" and drill the carriage bolt hole to 1/2". De-burr and treat bare metal with a
rust preventative.

5. Thread the provided fish wire onto the M10x35 carriage bolt with nut plate and fish through the hole and
secure with a retaining washer (fig. 4).

Figure 4

6. Install M10 nut onto bolt and snug.
7. Temporarily install the Bed Rail Bracket using an M10 bolt and washer into the bulkhead.

8.  Mark the remaining holes, making sure that the Bed Rail Bracket does not exceed the height of the bulk-
head rail and side rails.

9. Remove bracket and drill holes to 5/16", de-burr, and treat with a rust preventative.



mAMERICAN EXPEDITION VEHICLES

10. Install Bed Rail Bracket using M10 bolts and washers. Use the "J" nut plate at the front of the bedside,
inserted as shown (fig. 5), and the "L" nut plate at the rear (fig. 6).

Figure 5

Figure 6



IL.

mAMERICAN EXPEDITION VEHICLES

INSTALL BED FLOOR BRACKET

Align the Bed Floor Bracket on the bed floor 6" away from the bulkhead (fig. 7). The bracket will sit flush
to the bed side. Be sure the hole in the bottom of the bracket lines up centered in a “valley” of the bed

floor. NOTE: If your truck has a spray in bed liner add roughly 3/16" to the 6" measurement from bulk-
head.

Figure 7

Mark the hole in the bed floor and three holes in the bedside. Remove the Bed Floor Bracket and drill
holes to 1/2" being careful not to drill through the heat shield under the truck bed. De-burr holes and
treat bare metal with a rust preventative.

Using the fish wire, pull the Plate and M10 x 40 through the hole in the bed floor. Use retaining washer
to hold in place.

Place the Spacer over the bolt, fitting in the groove of the bed (fig. 8).

Figure 8



mAMERICAN EXPEDITION VEHICLES

5. Install Bed Floor Bracket over the spacer and bolt and loosely secure with M10 flange nut.

6. Insert the three M10 x 20 bolts through the Bed Floor Bracket and bed side (fig. 9). Secure with M10
flange nuts accessed through the wheel well and unerneath the bed (fig. 10). NOTE: Partial removal of
the wheel liner required. It will be helpful to have a partner hold the bolts in place while threading on the

flange nuts.

Figure 10



mAMERICAN EXPEDITION VEHICLES

7. Install rubber bumpers on the Bed Floor Bracket. Use two washers between the bolt and the bracket (fig. 11).

Figure 11

8. Install the supplied edge guard on the Bed Floor Bracket. Cut the edge guard in half with wire cutters,
using a screwdriver or other smooth, round tool to push into slot. Cut off extra with wire cutters (fig. 12).

Figure 12



mAMERICAN EXPEDITION VEHICLES

9. Fasten the winch cradle lockdown bracket to the bottom of the winch cradle using the hardware pro-
vide with the winch (fig. 13).

Figure 13

10. Install Winch Cradle into the Bed Mount and secure with threaded knob (fig. 14)

Figure 14

11. Reinstall right side rail cap.



